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Question 1
Question Type: MultipleChoice

developer wants to use a module named universalContainersLib and them call functions

from it.

How should a developer import every function from the module and then call the fuctions foo

and bar ?

Options: 
A) import * ad lib from '/path/universalContainersLib.js';

lib.foo();

lib.bar();

B) import (foo, bar) from '/path/universalContainersLib.js';

foo();

bar();

C) import all from '/path/universalContaineraLib.js';

universalContainersLib.foo();

universalContainersLib.bar();

D) import * from '/path/universalContaineraLib.js';



universalContainersLib.foo();

universalContainersLib.bar();

Answer: 
A

Question 2
Question Type: MultipleChoice

Refer to the code snippet below:

Let array = [1, 2, 3, 4, 4, 5, 4, 4];

For (let i =0; i < array.length; i++){

if (array[i] === 4) {

array.splice(i, 1);

}

}

What is the value of the array after the code executes?



Options: 
A) [1, 2, 3, 4, 5, 4, 4]

B) [1, 2, 3, 4, 4, 5, 4]

C) [1, 2, 3, 4, 5, 4]

D) [1, 2, 3, 5]

Answer: 
C

Question 3
Question Type: MultipleChoice

Refer to the following code:

Image not found or type unknown

Which statement should be added to line 09 for the code to display 'The boat has a capacity of 10 people?



Options: 
A) super.size = size;

B) ship.size size;

C) super (size);

D) this.size = size;

Answer: 
D

Question 4
Question Type: MultipleChoice

Refer to the code below:

Image not found or type unknown

When does promise. Finally on line 08 get called?



Options: 
A) When rejected

B) When resolved and settled

C) When resolved

D) When resolved or rejected

Answer: 
D

Question 5
Question Type: MultipleChoice

Refer to the code below.

Image not found or type unknown

After changing the string index values, the of atr is Javascript''. What is the reason for this value?



Options: 
A) Non-primitive values are mutable.

B) Non-primitive values are immutable.

C) Primitive values are mutable.

D) Primitive values are immutable

Answer: 
A

Question 6
Question Type: MultipleChoice

Cloud Kicks has a class to represent item for sale in an online store, as shown below:

Image not found or type unknown



A new business requirement comes in that request a clothingitem class, that should have all of the properties and methods of the item

class, but will also have properties that are specific top clothes.

Which line of code properly declares the clothingitem class such that it inherits from item?

Options: 
A) Class clothingitem implements item (

B) Class Clothingitem (

C) Class clothing item super item (

D) Class clothingitem extends item (

Answer: 
D

Question 7
Question Type: MultipleChoice



Given two expressions var1 and var2, what are two valid ways to return the logical AND of the two expression and ensure it is data type

Boolean? Choose 2 answers

Options: 
A) Boolean (var1 && var2)

B) Var1 && var2

C) Var1. Toboolean ( ) && var2, to Boolean ( )

D) Boolean (var1) && Boolean (var2)

Answer: 
A, C

Question 8
Question Type: MultipleChoice

Refer to the code below:



Image not found or type unknown

Considering the implementations of 'use strict' on line 04, which three statements describes the executes of the code? Choose 3 answers

Options: 
A) 'use strict' has an effect between line 04 and the end of the file.

B) Z is equal to 3,14.

C) 'use strict , is hoisted, so it has an effect on all lines.

D) Line 05 throws an error.

E) 'use strict' has an effect only on line 05.

Answer: 
B, C, D

Question 9
Question Type: MultipleChoice



Refer to the following code:

Let sampletext = 'The quick brown fox Jumps';

A developer need to determine if a certain substring is part of a string.

Which three expressions return true for the give substring? Choose 3 answers

Options: 
A) sampleText.inclides (fox');

B) sampleText.includes (quick', 4);

C) sampleText.includes (fox' , 3);

D) sampleText.substing ('fox');

E) sampleText.indexof ('quick') 1== -1;

Answer: 
C

Question 10



Question Type: MultipleChoice

Which JavaScript method can be used to serialize an object into a string and deserialize a JSON string into an object, respectively?

Options: 
A) JSON,serialize and JSON,desrialize

B) JSON.encode and JSON decode

C) JSON.parse and JSON deserialize

D) JSON.Stringify and JSON.parse

Answer: 
A
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